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CHAPTER III

THE THANSFORMATION RULES OF FRENCH QUESTIONS

This chapter will be concerned with the transforma-
tlon rules (T rules) of French questions. 4 few cobligatory
and opticnal rules are needed to serve as backeground before

we begln the structural analysis of the guestion.

igatory G tical Tr formatlons
Aereement Rule
1 NP + Ale r—— NPnofp + ﬂUIanp

French N is always marked with gender, number,
and person, For example:

le livre is masculine gender, singular num-
ber, and third person.

Marie is feminine gender, singular number,
and third person.

At the syntactic level when the string NP is attached
Lo string AUXy, the gender 1s of ne significance, The im-
portant thing 1s that the NP and AUX, must agree in number

and person. For example:
l- - -
lst person| + alUXy FlSt person

singular | singular
| number J i number

NP

I y ete,
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fixal Aule

02 4Af + X e x + Af
1t was presented in the first chapter that af re-
presents Tmps, =en, -er. This affixal rule signifies that
the &f string will have to be attached to the following
string. For examples
NP - Tmps + VBB ————3 NP - VB + Tmps

Nous - ons + donn- —e-=3 Nous donnons

iocnal Gr ¢al Transformati
Negative Rulel
Theg NP + Pvb + aUX, + VB + NP, ————9

NP+ ne + AUXy + VB + pas + NP5

Nous ne connalssons pas le cinéma.
The twe morpheme negatives in a statement will
have a fixed place as presented. The position will be

changed according to the other constructions.

Thesc rules are glven since they are basic to the
transformation of French questions. Other transformational

rules are not included since they are not within the pro-

vince of the study,

1gce page 6,
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French gquesticns may be characterized by tone, form,
Or wordg crder. EBlther of these three 1s permltted for any
question; also, each of these three imparts exactly the same
meaning to the questicn. The distributions are nelther re-

stricted nor specialized.

Tone indication: 11 est 13?7 (rapldiy rising tone
on Ih)

Form indication: Il est 1%, n'est-ce pas?

Word order 1+ Lst-11 157

For the purpose of the analysis the writer will labelt

“Gau"
{—EﬁT Loc
ﬁPl +-AUIl + + VB + NPE +
—er HMan
Tomp
Xy

The transformation rules of questions may be grouped
as follows:

Revergal Type Transformation, -—- The Teversal type

transformation is concerned basically with the shifting of
position between Xj and Xo -- that is, the usual position

of Xy and Xz in a statement 1is X1 + Xo. The shifted posi-

“tlon for a question would be Xz + X1,
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Generglirzed Transformation. -- The generall zed

transformation is eoncerned with putting btwo or more sets

©of strings together {(embedding).

Quegtion Wopd Fransformation. -- In a questien word

transformation, the rules for bringing a gquestioned nominal
or adverbial to thc beginning of the senfence are given. For
example:

X1+ 45+ Xg ——-= QA7 + Xo + Xg
The symbols on the right hand side of the¢ arrow show that

Xy (or NPy) 1is belng questioned.

The types of French questions that are generated

from the application of these transformatlons may be called:

Reversal type (A7) (96824

Voulez-vous du lait?

Questlion word reversal type {Qw + RT)

Que voulez-vous?

Generalized transformation type (GT)
Est~ce que vous voulez du lalt?
Generalized transformation reversal type (GT +
RT with question words)
Qut est-ce que vous voulez?

Bach of these types will be presented in detail.

L 18353745



Reversal Type Questions . . R
L Yy

A
T 1 Xy + Xy mmem Xp 4+ Xy N
This transformation has been presentcd on page 14
as an example of the basic reversal type. T 1 may be ap-
plied only 1f X, = Hprnp‘
Nprop —===- Je, tu, 11, elle, nous, vous, ils,
€lles, ce,

[
Prenez-vous da the?

T 2 Il + KE + (I) -y Il + KE + N + (Y)

Frop
This rule must be applied when Xy ANprop- X1 which

represents NP, may be a noun phrase (NP}, a personal pronoun

(Kprop) s OT a proper poun (). If X3 15 either NP or Np,

T 2 must be mpplied.

L'épicier et 1'éplciere sont-1ls des employes?

NP must be in agreement in gender and in number

with Nprop.
_ ~ T _ _
masc il
Hsg
Tfem Glle
X, = i —_——y Hprop
mase | 11s
le
L}‘em ! elles

For example, if NP is singular masculine, 1] must

be put after X,, etc,
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T 3 Norop * Pyby + Xp + (¥)  ~ue-3
Ne + X5 + Nypop +pas +(Y)

On page 13 T shows Pvb (ne ~-=-- pas} position

neg
in a statement. For the negative question transformation,
the X5 + Hprop string can not be separa;ed. The first ele-
ment of the negatlive morpheme (ge) will be located a2t the
same place as it is for Tneg! - that 1s, before X, but the
element (pag) 1s located after Nprop-

N'allez-vous pas avee lul?

Questlon Word Type Questlions

When a particular element rather than the whole sen- -
tence is to bg questioned, none of the above transformatlions
wlll be encugh. But rather the rule must single cut the
nominal or adverbial to be quostioned; attach the gquestion
morpheme (§) and bring them out to the beginning of the
sentence.l

For the study here we shall assume that when the Q

questioned nominal has been the object of a preposition, the

"

1R, B. Lees, The Gramgar of English Nominalizations

(International Journal of american Lingulstics, Part II,
Vol. 26, Ne. 3, July), 1960, pp. 36-38.
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latter accompanies the transformation. Faor example, il in

the sentence Bllo a donné gctte rohe & sa belle pctlte soeur

the questioned nominal is sz belle petite soeur, the preposi-

tlon with it {a) would be brought ocut to the teginning of
the sentence and thc result would be 4 qul . . .7 (Q NPy
- gul).

It is also assumed that 1f any modifiers are present

in the neminal, they may not accompany the Q transform; thus

from Je& _connais 1'homme svee te manteaun rouge, we may de-

rive gul for the whole NP (2'homme avec 1¢ mantcau rouge.)

Although the adverbials are of various origins, they
wlll be listed separately in this presentation. Preposi-
tiens are also of various origing. To avoid complicating
the rules, the writer will use the class-symbol 1n cach pPlace
in the constituent structure where a mcmber of the class

occurs. For example, we have Gegu for causative, Q.. for
Places, (u,, for manner, and Upmp for time.

dnother assumption is that when 2 nominal 1s an inter-
hal constituent of an adverblal prepestitional phrase, 1t may
not be changed to a ¢ transform. A4 permitted transforme-

tion in a normal situation for Je ¢ vols dahg la rue would

be Ou est-ce gue je le¢ vois?

It is also pcrmitted in French to question only with

Q@ morphemes, For exanplc:
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Quand? Dans un mois,
Combien®t Deux cent cingquante francs.

Cogbien de
rotig de wveau? Deux.

Pourquoi? Parce qu'll n'y a pas de taxi
- sur la place.

Pour qui? Pour unc anle sans doute.

gul done? Monsieur Lebrun.

Corment? Par avion.

it may be noted that in French two particular ques-
tion morphemes “comment” and “guoi" by themselves may stimpu-
latc repetition of what had been uttered. They are two dif-
ferent morphemcs from Qu,n and QPrepy (for example, avec
guol in further presentation on page 26 may clarify the
reader on this subject,)

For the purpose of the analysls the symbols Ly Xa,
¢tc. will be used tc represent the strings in a sentence (Sece
page 14).

5 —e-us X1+ Xp + (X3) + (Xy) + (X9)

Different questions with '"question words" may be pree

sented as follows:

T 4 X1 + Xo +(¥) - > QA+ X o+ (X)

X] or 8P Is questicned in thils transformation.
This set of transformationel strings may occur only 1if X; =
Nan (QNgn = guid.
qul est 1a%
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TS glegt + NP + Gui + VPL w—uil >
QNP"+ est-ce gui + VP
In this casc NP, the comploment of c'est, 1s gues-
tioned. It 1s brought out to the beginning of the question
and Xy and X5 arc reversed. This rule can be applied to

both N_, and N;., but the Qﬂan and QNy,, are not the same.

{Nan Gui
q e
| Nin Que

Qui est-ce gquil est 1a7

Gu' est-ce gqul e€st sur la table?

T 6 glest + NP5 +gue + NPy + VBZ a3y
QNFy + ggt-ce + gug + NPp + VB
NPy is guestioned. This rule may alsc be applied
to both N, and Nij. |

Gui cust-ce gue wvous roegardoz?

Qu' cst~ce gque vous regardez?®

T? J{l-I-KE-F-xh_ ————— ) Q]{|++]{2+]{1

L

£

lror the origin of thls string sec GT 1,

€For the origin of this string sce GT 2.
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NP> or Xy 1s being questioned, This rule may also
be applied to both N_y and Ny,.
Qui est-ce?

Quc Tfalt Madame Vincent?

T8 Xl + IE + XS ————— > QK; + XE + Il
rLoc | ou
Q Man ————— Conment
Tmp Quand |

I5 which ﬁ;y b: an adverbial ihcutiun of any king
is being questioned. Therc are locutions of place (Loc),
manner (Man), and time (Tmp). The phrasc structure and the
question transformation are the same, but qx5 15 different,.
For Xy, u will be the replacenent; for Xy,, comment will

be the replacement; and guand will be the replacement for xmp.
They must all be brought out to the beginning of the sentence.

Ol hablte Monsleur Vincent?
Comment mangez-vous?

Quand wvas-ta?

T 9 X1+ Xg + Xy —--—> Qpulde + Xy) + Xp+ X
Uy 4¢ + X, is becing questioned, since the quanti-

Ly of Xy or Xy, nay be questioned, The position of the de +

Ay string is optional. It may occur after Qras OT after X4,

or not at a11.
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Combien {de filles) sont vcnues? (QXx7)
Comblen m'apportez-vous?
Combicn a~t~il d¢ cravates?

Combien de cravates y a-~t-117% (QXy,)

T lﬂ' xl + XE -+ SGau ----- ™y QSGau + KE -+ }:,1
The causative sentence (Sg.,) 1s belng questioned.

Pourquoi pleures-tu%

T 11 Xy + Xo + (Prep) + (adj) + Xig -
(Prep) » ql4dj) + Xy + Xo + X4

B B . 4 1
| quel | mase]
f Hsg l ‘
‘quelle ! fem |
Qadj + N ~maes > | + | B
iquels | ‘masc]|
| N 1 |
lquelles % P ifem_{

—_ - e

A part of X, is being guestioned; the signal i1s '"gue)l.! This
mnrphemé must be Iin agreement in gender and in nunber with Xy«

Quels habits portez-vous?
A quelle heure tlen vas-tu?

Xy may be replaced by Det (le¢, la, and leg).

) Tmaséf] ‘lequel ]
Hsg i
 Tem i laguells
Det o+ RGA4J) —mesy |
Fmasq f lesguels
Npl i
i fem II | lesquelles

Lequel voulez-vous?
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T 12 Xy + Etre + Xy, e 7 QA + Etre + X5

Thec application of T 12 is limited te situations
where X = Xy, and X2 = Etre. In this case too, the morpheme
Auel which replaces the QXL string nust be in agrecoent in

gcnder and in number with X1,

(uels sont vos tissus?

Ceneralized Transformation Type Questions

Generalized grammatical transformation deals with
optional transformations of two °or more set of strings.
The rule shows one set of them {the constituent string)

1.

being embedded into ancther {(the mucri- atrin

s

Relntive Pronoun ag Subject

GT 1 Y—FNPE

----- > Y + NPy + Qui + UP
HPl + VP

where HPE = NPl
In this situation NP) which 1s the subject of the

second sentence is replaced by gui.
Voila les EENS. |
===
Les gens gagncnt leurs douge francs.

Volld les gens qul gagnent leurs douze francs.,

Relative Pronoun asg Dbicet

GT 2 Y + NP,
m—— Y NPE + gue + NPl + VP
NPy + VB + NPy

. whcre NPE £ NP3
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HP3 cbjeect of the second sentence 1is replaced
by gue.
Voilk 1a fille. & .

J'al vu la fille
Volla la fille que jtai wvue,

GI 3 NP + VP
N'est—¢c pas?

11 va venir.

1} === NP + VP s p'egtece pag?

=~=> Il va wcnir, n'est ¢ce pasf
N'est-ce pas?
GT L Clegt que + S
——~—% L'est que + NP + VP
NPy + vpq
The sentence § is replaced by NPl + ?Pl.

C*est quc mes parents sont partis.

Generalized Transformation Reversal T¥pc Questions

This type of guestion (froo T 1} cust bc precaded
by GT L.
Clegt gue + NP + VP ey egt-ge gue + NP + VP

Est-ce que mes pzrents sont partis?

T—
IThis string may be derived from glegt + X by T 1 and

neg®
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—

Log¢

—-—-—--)

Est-¢e gue + NP + VB +

Man
| Tap |

Loc

q Man + egt~ce que + NP + VB

Top

The adverbial locution is being quéstinned {See

T 8, page 21).

T 14

Ou est-ce gue vous habltez?
Comment est-ce qu' elle 1'a fait?

Quand est-ce Que vous sortirez?

Egt-ce que + NP + VB + nu +_NP2 -
Ynu + ¢gt-ce gue + NP + VB

Quantity is being questioned (sce T 9, page 21}).

Cormbien est-ce qu' 11 y a de pitces?
Combicn de robes est-ce que vous avez?

Combien est-ce que vous vouleg?

Eat-ge que + NPl + VPl -+ sCau —

QSCau + gst-gc que + NPl + ?Fl

The sentence Scay 18 being questioned, It is

replaced by Qgcau - (A8c,y = Pourgugi) in the derived sen-

tence (See T 10, page 22).

25
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T 16 Est-ge gue + NPy + VB + (Prep) + {4dj)+N «——3
' (Prep) + Q(adj) + N + est-ce gue + NP, + VB
The oorpheme guel 1s to be usecd to slgnal the ques-
tlon. It has to be in agreement In gender and in number with
N {See T 11, page 22).
Quels fruits est-ce gque vous voulez?

A quel €tage est-ee que vous habitez?

For the transformation of the nominal of an adverblal
either T 1, T 2, Gt 4, or a @ transforuation 1§ permlitted.
The qucstion word transformation of thc adverblal proposi-
tional phrascs is glven below. The writer assumes that 1t
is ¢lear to anyone who has read the beginning of this chap-
ter that these § questions will have to be brought cut to

the beginning of the sentcnce.

QPrep; * Nan --——> Prepj + gui
QPreps + N4n === Preps + guol

",
qPrep3 + Ngqp  me— Frepy + ou

Non =~ ~—=-3 gargon, Plerre parents, cte.
Nin =----3 table, ecole, soleil, etc.

Ngip ===-2 chemin, pont, la Sorbonne, ete.
Prep) -—---y ay avec, de, pour

Prep, -=---% a, avec, de, pour, en, dens

Prep3 ———— de, par
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